INTERMEDIATE EXAMINATION - 2019 (ANNUAL)

Sl. Code :- 218
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ENTREPRENEURSHIP (Seifian)
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Instructions for the candidates :-
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Candidates are required to give their answers in their own words
as far as practicable.
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Figures in the right hand margin indicate full marks.
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15 minutes of extra time has been allotted for the candidate to
read the questions carefully.
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This question paper has two sections: Section-A and Section-B.
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In Section-A, there are 35 objective type questions which are
compulsory, each carrying 1 mark. Darken the circle with
black/blue ball pen against the correct option on OMR Sheet
provided to you. Do not use Whitener/Liquid/Blade/Nail on OMR
Sheet, otherwise the result will be treated as invalid.
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In Section-B, there are Noﬁ-objective type questions. There
are 18 Short answer type questions, out of which any 10
questions are to be answered. Each question carries 2 marks.
Apart from this, there are 6 Long answer type questions, out-of
which any 3 of them are to be answered. Each question carries 5
marks.
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Section — A (Objective Type Questions)
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Question No.- 1 to 35 have four options provided out of which only
one is correct. You have to mark, your selected option, on the OMR-Sheet.

Each question carries 1 (one) mark. 35x1=35
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The term ‘Fund’ as used in Fund Flow Analysis means:

"~ A. Cash only
B. Current Assets
C. Current Liability

D. Excess of current Assets over current Liabilities.
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Net working capital means -
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Fixed cost
P/V Ratio

Fixed cost

BN Ratio -
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D. None of the above



C. P/\V Ratio
Fixed cost

D.  None of these
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A. 1970 "B. 1975

C. 1986 | D. 1988

Risk Capital Foundation was established in -

A. 1970 B. 1975
C. 1986 D. 1988

i@ﬁ—ﬂmﬁaﬁaﬁaﬁaﬁaﬁaﬁméms—
A. g TR faer B. i wurg
C. IR araet # gfig D. Sudaa wii
Capital Intensive technigue is favoured due to :-

A. Rapid economic growth

B. Social influence
C. Increase in employment opportunities
D. All of the above
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Management is an art of -
A. doing work himself

B. taking work from others
C. both for doing work himself and taking work from others

D. All
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Out of the following which is the method of quality control?
A. Inspection method

B. Statistical Quality Control Method
C. Both A and B above
D. Neither A nor B above
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10.

1.

Dividend paid on cumulative preference share :-

A. In the year of profit B. In the year of loss
C. In the year of profit or loss D. None of these
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The best example of variable cost is -

A. Interest on capital B. Material cost

C. Wealth tax D. Rent
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Generally diversification is classified in -

A. Two ways B. Three ways

C. Four ways D. Five ways
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Is it necessary to give due consideration on internal resources
before initiative a particular decision?

A. Yes, itis necessary . B. No, not necessary

C. Necessary for external resources D. None of the above
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Incentives are not concerned with :-

A. Rebate -B. Exemption from Tax

C. Provision of seed capital  D. Lump-sum payment
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Which of the following is known as Market Demand?
A. Demand Forecasting -B. Real Demand

C. Supply D. None of the above

ﬁmﬁﬁﬁmqﬂwm@mwgwaﬂﬁmwmw
87

A. gferanfirar B. I94ET T g



15.

16.
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Which of the following factors are to be considered while
selecting a product or service?

A. Competition B. Cost of production
C. Profit possibility D. All of the above
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Selection of an enterprise depends on -

A. Sole Trading B. Right of Entrepreneur
C. Self Ability of Entrepreneur D. None of the above
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An entrepreneur prefers which form of organization if production
is to be undertaken on small scale basis?

A. Sole Trade B. Partnership

-

C. Company D. None of the above



17.

18.

19.
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Project identification deals with -
A. Viable Product idea B. Logical opportunity

C. Effective demand D. None of these
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Techno-economic analysis deals with identification of the

A. Supply potential B. Demand potential
C. Export potential D. Import potential
RIS et & —
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Project appraisal is an/a-

A. Export Analysis B. Expert Analysis

C. Profitability Analysis D. None of the above
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22.
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Various public utility undertaking have to invest heavily in :-

A. Current Assets B. Fixed Assets

C. Fictitious Assets ‘D. None of the above
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Pay-back period deals with- ~

A. Period required for profit earning process

B. Period required for cost of investment recovery
C. Period required for fixed cost recovery

D. None of the above
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23.

24.

25.

Project life cycle is not concerned-with the following -

A. Pre-investment stage B. Constructive stage

C. Normalisation stage D. Stabilisation stage
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Which of the following is a main problem connected with

business?
A. Profit B. Money
C. Sales D. Risk Management

wﬁwﬁaﬁﬁaﬁﬁwq&aw%ﬁm:ﬁzﬁ@w

¥ gfg a1 € ?
A. 3MfaspR B. gad
C. fauor D. Swiad # | BIg 7l

What creates perfection in the market which ultimately increases
the volume of sales and profit?

A. Innovation B. Promotion
C. Marketing D. None of the above
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26,

27,

28.
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Short-term forecast involve a period of how many months?

A. 12 months B. 24 months

C. 18 months D. 36 months
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Business Regulatory frame work is concerned with what -

A. Direction of Business B. Volume of Business

C. Regulation D. None of the above
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The product which are more in demand are more

A. Less profitable B. Lossable

C. More profitable D. None of the above
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29,

30.

31.
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Out of the following formulating of the general plan of business

depends?
A. Project Report B. Plant and Product Planning
C. Marketing Planning -D. Financial Planning
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What break-even point shows-

A. Profit B. Loss
C. Neither Profit nor Loss “D. None of these
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The best example of Fixed cost is -

A. Interest on capital B. Material cost
C. Wealth Tax “D. None of these
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32.

33.
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What are the things that enterprise do? The paths they follow
and the decision they take in order to reach certain points and

levels of success -

A. Production B. Distribution

C. Marketing D. Strategies
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Out of the following what is essential to study in feasibility study?

A. Cost B. Price
C. Operation D. All of the above
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What is included in nature of marketing?

A. Product Planning B. Classification of product

C. Consumer D. Customer
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Social behaviour is not concerned with-
A. Production of goods for public

B. Avoidance of unethical behaviour

-

C. Fulfilment of social obligations.

D. Profit earning process
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Business opportunity relates with -
A. Commercially feasible projects

B. Personal feasible projects
C. Neither A nor B above

D. None of the above
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Section-B (Non-Objective Type Quesitons)

oY I3 U (Short Answer Type Questions)
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Question no. 1 to 18 are Short answer type questions. Answer any 10 of

them. Each question carries 2 marks. 10x2=20

1. Safiar 1 yoreie fharsemy wf wwem e € ?
Why is entrepreneurship regarded as a creative activity?
2 GETATATERTT ¥ AT RIT G &2 |
What do you understand by Micro Environment?
3. IR gIATERY] F 37U FAT A 7
What do you mean by market environment?
4 RIS el & FIT Ieeg 8 ?
What are the objects of project appraisal?
5. B e ded 87
What is factoring?
6. B9 yare faaver @ gfwrer Qe |
Give the definitions of Fund Flow Statement.
T rUTa—fagetyr ¥ 3y ®I A 27
What do you mean by Ratio Analysis?
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10.

1

12

13.

14.

15.

16.

17
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How is break-even point determined?

Sl B B ?

Who is an Entrepreneur?
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State the two objectives of identification of business
opportunities.
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Give any two objectives of environmental scanning.
RIS gfaded & $1g 1 I2¥g adgd |

Mention any two objects of project report.
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What do you mean by the cycle of working capital?
RIS H FHdEdl 9l avdd 8?

Why time boundness is essential in a project?
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What is marketing mix?
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List any two problems faced by first generation entrepreneurs.
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What do you mean by market assessment?
18.  dINTR 3rdacild=T a1 §?

What is market observation?
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&g 3oy g (Long Answer Type Questions)
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Question no. 19 to 24 are Long answer type questions. Answer any 3 of

them. Each question carries 5 marks. 3x5=15

19.

20.

21;

22.

23,

24.
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Why Environmental study is essential for an Entrepreneur?
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How would you execute the setting up of an enterprise?
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What problems should be properly considered in the expansion
of a business enterprise? Elucidate.
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Describe the factors affecting the working capital.
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What are the factors affecting identification of business
opportunities?
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Explain the meaning, definition and objective of Financial

Management.



